
Exponential Functions in Banking - Example 1

In this example, we know the amount of money in the end.
We want to know the original amount of money put away.

We saw that the amount of money is given by:
P(t) = Po

(
1 + r

n
)nt

This gives us the equation:

3000 = Po
(
1 + .02

12

)12·5

To solve for Po we divide by the messy number:
(
1 + .02

12

)12·5

This gives us:
Conclusion: We need to put away $2714.74 to have $3000 in 5 years

http://coobermath.com/Exponential_Functions/Banking_Examples/Banking_General_Formula_with_e.pdf
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